HW 10.2 (b) Key

1. Prices for a nondividend-paying stock are modeled with a 1-period binomial tree. You are given the following
information:
(1) The period is one year.
(2) The stock's current price is 145
(3)u=12and d=0.29.
(4) The continuously compounded risk-free rate is 3%.

Find the premium for a one year put option with a strike price of 148. [zow- oe)
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2. Prices for a nondividend-paying stock are modeled with a 1-period binomial tree. You are given the following
information:
(1) The period is 3 months.
(2) The stock's current price is 150
(3)u=1.15and d=0.85.
(4) The continuously compounded risk-free rate is 3%.
Find the premium for a 3-month call option with a strike price of 152. [20b- o]
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3. Prices for a nondividend-paying stock are modeled with a 1-period binomial tree. You are given the following
information:
(1) The period is 6 months.
(2) The stock's current price is 110
(B)u=1.15and d=0.9.
(4) The continuously compounded risk-free rate is 3.5%.
Find the premium for a 6-month put option with a strike price of 115. [2on- o¥)
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Prices for a nondividend-paying stock are modeled with a 1-period binomial tree. You are given the following

information:

(1) The period is one year.

(2) The stock's current price is 95

3)u=1.3and d=0.9.

(4) The continuously compounded risk-free rate is 3%.

Find the strike price of a one year call option whose replicating portfolio contains 0.7763 shares of the stock. [.20‘0 .01
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5. Prices for a nondividend-paying stock are modeled with a 1-period binomial tree. You are given the following
information:

(1) The period is one year.

(2) Su =165 and Sd = 120.

(3) The continuously compounded risk-free rate is 3.5%.

(4) The price of a one year call option with a strike price of 149 is 10.36.
Find the current price of the stock. [Zob-\01)
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